Lecture 4

Multivariable linear regression

Sung Kim <hunkim+ml@gmail.com>
http://hunkim.github.io/ml/
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® Gradient descent algorithm




Predicting exam score:
regression using three inputs (x|, x2, x3)

multi-variable/feature
x, (quiz 1) X, (quiz2) x, (midterm 1) Y (final)

73 80 75 152
93 88 93 185
89 91 90 180
96 98 100 196
73 66 70 142

Test Scores for General Psychology
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https:/hwww.symbolab_com/solver/matrix-calculator
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Hypothesis using matrix

Wikt Waks SlaEs | ... + W, 25
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(I11w1 + Tigws + T13W3

w1 ’321'w1 +ugata + T23Ws3
Wa | = 91 W] + T32ta + TazwWs
w3 T41W] + TgoWae + TyaWs

Kf[.‘mtﬂ] + &52lo + TrzWs

H(X) = XW

hitps:/fwww.symbolab.com/solverimatrix-calculator
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Hypothesis using matrix
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[n, 3]

($11w1 + Tigws + T13W3
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\1‘51%‘1 + TsaW2 + T3Ws

[3, 1] [n, 1]

HX)=XW

hitps:/fwww. symbolab.com/solverimatrix-calculator
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3] pEEa [n, 2]

H(X)=XW

hitps:/www.symbolab.com/solver/matrix-calculator
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® Lecture (theo

® Implementation (TensorFlow)

H(X)=XW
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